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I 3 mno3, building on each other, each using the phrase 7121 93 to expand to Pmin *9ya, N9IR already covered in v. 2

a
b
c

#1: expands to allow for npon
#2: expands to allow for o Yva from birth
#3: expands to allow for 921y D0 Y2
i Challenge: this is more obvious than »12p n Yva (given as the “given”)
1 Answerl (nww "9): switch the sequence — “given” is 7219, expands to 1ap
2 Answer2 (wx “7): no need to switch — 8”70 that 723 DN YPa::8NV §7 — cannot eat until “fixed” — 5"np

I Analysis of rule in nwn — anyone who is not fit for N7y may not divide

a

Challenge: o Yya — unfit for nTay, yet he is p»n
i Furthermore: implication is that anyone who is fit is p5>1n — but (2”p2) ®nv is fit but not PN
1 Answer: “fit” means “fit to eat”
2 Challenge: 1op is 9N but not fit (inverse implication)
(a) Answer: bad inference — didn’t state that if not fit for nTay, doesn’t eat
(b) Observation: once we reject that inference, Xnv is no longer a question
(i) And:omYyais simply an extension via 2150 N

III  Analysis of “extreme example” in nwn — even if knv at time of 7”n7r and NNV at time of NYVPN —isn’t PoIN

a

b

Implication: inverse (1nv at time of 77171, then XNV at time of VPN [presumably during day] —is p>n
Observation: mwn doesn’t follow 5Rw RaR, who requires 110 at both points — per v. 3 (parsed as indicated)
i Query (?wx "7): according to IRW RaRr — if he is 1NV at both points but was ®nv in the meantime —

1 Lemmal: he needs to be 11nv at each point — and he was < may eat

2 Lemma2: he must be 1nv from 7”771 through process of n1vpn, which he wasn’t - may not eat —1p’n

IV Story — ra1 learned this law via feigned dialogue (between »12v and ponnn 1n3) taught in the bathroom

a

b

—

- =

»M3v: give me some of the YR’ nnan M»V to eat (tonight)

/7. re: your own nRvn, which you can bring anytime (even outside of your own ninwn), but you can’t eat Y87’ nnnn

(as it is not during your ninwn)

i Then: certainly, in a place where you never eat (your own nmmn — 103 nnn always 93), can you eat 587w’ nmnn?
»72v: but if you pushed me away from Y%7’ nron (not during my ninwn), where we are both entitled

i Then: can you reject me from 587w’ nmn, where we are both unentitled (in our mmn)?

772 v. 4 states that the 10> who offers may eat — come and offer (which he mayn’t do) and then eat

»13v: give me some of the Y87 nron to eat (tonight)

7. if where I are unentitled — »nnin — you're rejected from YR7w’ nmin, then certainly where I am entitled (nxon), I can

rejectyou
»”2v: where you rejected me (nmin) both of us are unentitled; cannot reject me re: nkvn where we are not
772 v. 5 - come offer (he may not) and eat!
»73v: give me some of (0'N5W HW) PIVY NN to eat (tonight)
7. if you are rejected from nron (as above), certainly you are rejected from on5w, where you only get w"n
»72p; in nron, my family members may not eat — but they may eat v"n
/7. v. 6 — come offer mnYw (he may not) and eat
Conclusion: the »av walks out, carrying his 1"ps, escorted by 11& and n1192 901N
i Question (*8nx 7): why not request 1131 (which is given to jn2)?
it Answer: 103 will reject him, noting that 113 cannot give nxvn to his family, yet he rejects »1av, 1p here
1 Counter: »1v could challenge that re: 7133, he gets to keep whole animal (unlike nxvn)
2 Answer: v. 7 — come offer (he may not) and take to eat
3 anK 7. v. 7 doesn’t grant M1 to 102 who performs nTay — even another 103
Note: even though one is not even allowed to muse over n”1 in a bathroom, this was different as w”axr1 was or1 (he
couldn’t help thinking about n™1, so he related this series of laws in this feigned dialogue form)
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